H & 0l & AHS B Ml A

SN EAEBY
My BAMH KD
&Pl 2HdE 2dae EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SAHE 5,334,965 4,138,303 1,196,662
= 14,79
= 445,000
| 893,560
= 239,956
= 3,741,650
SAHHEAE XA 2,370,816 1,383,318 987,498
= 445,000
& 111,250
= 1,814,566
2Iae 1,169,314 1,139,318 29,99%
=29 37,090 23,790 13,300
U2 AH| 15,390 2,390 13,000
t2eldl 2,390 2,390 0
oXtE XNABHZHE AL
100,000 x 1022 1,000
o XSS AHIZHE AloRRs A&
70,0003 *7H 13l 490
oRMARS 60,000& *15H 900
02 33=24H| 3,000 0 3,000
oXgEHo 2T & E§ols RE=
3,000,000 *13] 3,000
03 A2 I 10,000 0 10,000
o829 Y diA} 10,000,000 %13 10,000
202 44| 18,000 18,000
01 =2LHO4 ] 18,000 18,000
oEHUE AR F&
20,0003 108 20 4,000
oBHAR (ZAEH)
70,0002 *20F « 10 14,000
HRF=&| 3,700 3,400 300
A=A Z=&y| 3,700 3,400 300
oHMER Y BAHAR =X
925,000 *4= 7| 3,700
=22 110,780 93,580 17,200
2etz2d 18,180 9,580 8,600
tf2e 2,580 2,580 0
oIDIHMUNAIT tMEH &
380,000& *33| 1,140
oR01ZHl 4 120,000& 123 1,440
SES2ZH| 15,600 7,000 8,600
oHGx HAZ 1,000,000&*12| 1,000
S PR EN 1,500,000 23] 3,000
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SN EAEBY
A PARY X
el 22 2gael EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
oAldE Y S HH RAE=>
500,000 +63] 3,000
oS 2 =2e ezl
4,300,000 x23| 8,600
401 A& HILS0HY| 84,600 74,000 10,600
01 Al&HI 84,600 74,000 10,600
oEHA S AEBA 50,000,000& 50,000
o LIl e Ha
10,300,000 & *23| 20,600
CBALBBALE) BIH
4,000,000 »x23| 8,000
oA ZHAM S &2
3,000,000& *22| 6,000
405 Kt SHI 8,000 10,000 A2,000
01 ML =ZFSHI 8,000 10,000 A2,000
ool &H| 2,000,000 *1CH 2,000
SIS 300, 0002 * 1004 3,000
O AFRIER, JH&ED1D], 37
500,000 +6CH 3,000
S2AXA 2 391,755 444,220 AB2,465
201 Let23| 169,500 135,070 34,430
01 ArR22lt| 50,680 47,130 3,550
obE A== 10,0003+ 102+ 122 1,200
g4 HIIE I XMaldl
50,0003 =100 2+ 123 6,000
SFIIQH LANHHE
95,0003 #1090 2% 12& 11,400
CYMHLMIE AL
300,000 * 171 A 300
o= AEX 25,0003 x4t A% 1000 2 1,000
o=AD| EY 250,000 *109H 2 2,500
CANRES 350,000 =109 2 3,500
cHAEE 350,000 *109H 2 3,500
oRMARS 60,000 x23H 1,380
oI ARE
40,0003 *10JH A+ 12 4,800
oHAHXAx Ro1FH 224
105,000& 109 &+ 128 12,600
oHYYAAS 250,000 * 1000 & 2,500
02 3324l 118,820 87,940 30,880
odMIIR3 700,000 * 1000 A+ 123 84,000
o= 20,0002 *100H A% 123 2,400
o BAXA HAHE|
1,3242 395+ 100 2 x4 20,920
ool2 &Yl & &4
200,0002 x 100 2 *23] 4,000
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2A:

(=]

—_ —/
Hu: AT
[=]

4

=aak ﬁ%@ 2zl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
od3tE XMl 350,000 * 109K A 3,500
oANd=E RAES
100,000 *107H 2 %4 2] 4,000
202 04| 12,000 8,400 3,600
01 201l 2,000 8,400 3,600
BB YBEANEY S FX
10,0003 102 *10€12& 12,000
206 MH=HI 16,500 23,100 26,600
01 MHZH| 16,500 23,100 26,600
odZud 28 M=
15,0002 *20Z %13 x 1104 A 6E 16,500
301 EtE NS 58,080 38,500 19,580
11 #AIAHIXIZ S 19,360 10,500 8,860
cAUDA FHT} By
2,000& x20&H *42]x 11 2+ 112 19,360
14 JIEt2 8= 38,720 28,000 10,720
c2A2ADA LA
80,0003 *42| 1104 Ax 113 38,720
307 elztol & 32,075 37,050 A4,975
012z & 2=Hl 32,075 37,050 A4,975
SOlZF N DISHIARTUE
35,0002 x3457H 4 12,075
CBT WRYUE U ADF
2,000,000 * 1004 2~ 20,000
401 Al HIZL 201 64,400 92,200 27,800
01 Al&H| 64,400 92,200 A27,800
ou LIl LS Ba
650,000 22|+ 1001 A 13,000
oBAXNA £F AN S 2l
1,000,00021+ 107} 2 10,000
SEEH 570,000 23]+ 100l 2 11,400
CBATIA HISHIE L DY, SEA Ha
1,800,000 * 107 2~ 18,000
o BAUXL AEBAL
1,500,000 *8IH A 12,000
405 AtatE = 39,200 109,900 AT70,700
01 TR =S FSHI 39,200 109,900 AT70,700
oNsE A 1,500,000 «2CH 3,000
CHEE Wike))|
35,000,000 *10H 2 35,000
S MIEDI 600,000 *2CH 1,200
2AM=A 2SE 345,189 329,528 15,661
101 21AH| 14,436 0 14,436
04 JIZtN2Z2XNSE+ 14,436 0 14,436
Shutalil 80,2403 x1H 25U +6E 12,036
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2A:

EHHE
Hm: DM X2
el 2y 2gac (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SaZ(FASAL, RE2ZH)
200,000 x1H+62 1,200
cAUEE = 200,000 x1H+6 1,200
201 et 3| 17,917 107,636 10,281
01 At 22|l 44,141 40,460 3,681
oZI|&FIILEH DA
80,000& »11JH %22 1,760
OMNPES 250,0003 110 A 2,750
ocHAES 250,0003 * 1100 A 2,750
olE ASE 13,0002 %110 A% 123 1,716
oZ&d HIl= fIEXel]
50,0003 1104 2% 123 6,600
oI2lH &l 250,0003 110 A 2,750
SUE=N 25,0003 28 A% 1100 & 550
oRMIARS 60,0003 * 110 A 660
od=J| gXt&
40,0002 x 11 2+ 123 5,280
oHAXBA R0IHY| B
85,0002 x 1104 A% 123 11,220
oMIIOHM HAIHYE
155,000& * 1104 %12 1,705
oAldZe A2E 381,800 * 1100 2 4,200
oddeAr= 200,000 * 110 2 2,200
2 s5=34l 73,776 67,176 6,600
oMIIRS 450,000 * 1104 Axx 12 59,400
o= 20,0003 6 A+ 122 1,440
ol &ML=
300,000 x 110 2+12] 3,300
oO|2AH| £ =M
188,000 110 223 4,136
oZstx HMeldl 100,000 * 11004 1,100
oNME=E RAEs
100,000& * 110 2+42] 4,400
206 M=Hl 9,900 14,784 AN4,884
01 MHZH| 9,900 14,784 N4,884
cABUM 2E Me
15,0003 * 122 *11JH A+ 12]+63 9,900
301 EtE N = 50,336 36,608 13,728
11 #AIAMHIXIZ S 11,616 8,448 3,168
AW FHAT LA
2,000& 121104 A+42]« 112 11,616
14 0Bt 2a s 38,720 28,160 10,560
oAZ WA A
80,0003 x 110 Ax42|«11E 38,720
307 glztol & 33,000 44,000 211,000
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SN EAEBY
A PARY X
el 22 2gael EER=E)
A - B G(3H) - NRAY - HES ol ke G o HlmS2
01 9= ¥ 3l=H| 33,000 44,000 211,000
o8I WRIAE L £2E
3,000,0002* 1100 & 33,000
401 A& B2 20HY| 62,600 107,500 244,900
01 Al&H| 62,600 107,500 44,900
oW - L] L HA
450,000 x23|* 110 2 9,900
oEAAZA RZAN S el
1,000,000 11042 11,000
CEAWEA HIHE L Y, T HA
1,800,000 1170 2 19,800
oTZ=MA 450,000 #23|* 110 2 9,900
oBAHANZ A AEHBAL
1,500,000 *8IH 2 12,000
405 Rt SHI 57,000 19,000 38,000
01 ML =ZFSHI 57,000 19,000 38,000
CHHE Yuw)
18,000,000 37 2 54,000
oN=E2H 1,500,000 *24 3,000
S22 2% 22| 270,000 234,900 35,100
301 LEBNZ 270,000 234,900 35,100
14 JIEt2 43 270,000 234,900 35,100
oZEEHOA SRES T3
900,000& x20H 123 216,000
oBSEAHYM &dE =H
45,0002 *10Z 10+ 122 54,000
=9 =X&H 8,500 7,300 1,200
201 LEr2 | 6,000 4,800 1,200
01 At 22|l 6,000 4,800 1,200
oRIIRZ AN 0182 K=
600,000& =103 6,000
307 2I2+01 A 2,500 2,500
01 9= ¥ 3l=t| 2,500 2,500
oUE WAMKH S2IUZ L IR
250,0002 103! 2,500
Sota 2 2| 6,000 6,000
201 L2 | 6,000 6,000
02 SE=29| 6,000 6,000
oEAJ|2 MAFH| & Z2OH KRB
500,000& =123 6,000
OIZAEES 1,201,502 244,000 957,502
s 445,000
= 111,250
= 645,252
SHEEHA S 0|8 &= 1,181,502 58,000 1,123,502
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SN SARY
XM o|orztg|
[ R} — T

ol 2lefael

RA - I BRA(E) - HRA - BES of vy A
oszdlE o XA S MA
730,000 *22] 1,460
QYR X EEZS(HHQ S)
5,000 52801 2,640
ooloigia ADEE 2]
500 *1,0000H 500
oOgly EU 250,000 & +3CH 750
OMNFES 3,000& *655+43] 780
ouan= 60,0002 +424+23] 480
colorieRz DA
9,000 x4&E «30&! 1,080
202 04| 6,800 6.800
01 =LHNHI 6,800 6,800
oooAAA NEHH =&
20,0003 x4 »85 6,800
301 2N = 2,760 2,400
11 EAAHIXRES 360 0
o922 2tE3l sS4
9,000 x20 & *22 360
14 J|Et2 a3 2,400 2,400
oAHIX 22D10] 2AIE =]
100,000& x2Z « 12 2,400
AEUSE2EXZ 1,000 1,000
Il 700
o 300
307 212+01™ 1,000 1,000
Jl 700
a 300
012z € 2/=H] 1,000 1,000
2B XE AE L JIXM
10,0003 100 *12] 1,000
2l 700
s 300
AEUSE MRuSF 500 500
Il 350
Ea 150
201 223 500 500
Il 350
= 150
01 AFS2t2ltl 500 500
ocX2NE SZ(JIXM, =g M M
) 500,000& %12 500
Il 350
s 150
Meted =Xd 23t us 4,900 4,900
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SN EAEBY
M3 olopma
chel: olerate (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 2,500 2,500
01 At2teltl 2,500 2,500
olftEsasls tosd JIAM
500,000 55 2,500
301 EetE2 N = 2,400 2,400
4Bt 2as 2,400 2,400
oS ZAH 300,000 x4 H =23 2,400
Sl HRle Zatatel 10,000 10,000 0
7l 5,000
= 1,500
o 3,500
308 AtXIEMSOIE 10,000 10,000 0
Il 5,000
= 1,500
[Ea 3,500
18 SIS0t HAS A 10,000 10,000 0
o3| ERA 2=
1,666,660 «6H 10,000
Il 5,000
= 1,500
o 3,500
SE ALY 4,000 4,000 0
301 EtE2 NS 4,000 4,000
14 0Bt 2a3 4,000 4,000
oHEEH o= 20,0002 x50 *43] 4,000
FH S84 22 N 200,000 200,000 0
7l 200,000
307 gl2to| & 200,000 200,000 0
Jl 200,000
02 2IZHB A E & 200,000 200,000 0
ozox 232=0IB 2|
200,000,000& x13] 200,000
Il 200,000
FHoXl 224 22012 X2 (XEA) 200,000 180,000 20,000
307 lztol & 200,000 180,000 20,000
02 2B YA E X 200,000 180,000 20,000
oF AR 2822012 2HI(XHA)
200,000,000& x13] 200,000
AsaEEAHI| £ K 4,430 4,430 0
Il 2,215
= 665
= 1,550
307 el2tol & 2,080 2,080 0
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O RNCE L
ma: ojorze]
chel: olerate (CH9: &S1)
SA - B CRI(S]) - NISAY - BES A HIm=S2t
| 1,040
T 312
= 728
01 2= 2,080 2,080 0
SPNE==FaY (tdlel, M=)
208,000 *10JH 2~ 2,080
| 1,040
T 312
[ 728
405 Rtak 2,350 2,350 0
| 1,175
& 353
[ 822
01 Xratyd 2,350 2,350 0
ISPNR=FNPS, 2,350,000 *1CH 2,350
| 1,175
& 353
= 822
AHAME 5,000 0 5,000
201 LBt 4,200 4,200
01 AL 4,200 4,200
o3
20,0002 10X 200
ofH
4,0002+1,000 4,000
301 it 800 800
11 &A 800 800
opAHAM= XU HOHA X
4,000 2005 800
0Pl EAad 8,000 0 8,000
201 B2 AL| 4,000 4,000
01 AtR2elt] 4,000 4,000
o=EHESE 2,000 x200% * 102 4,000
301 LPENZ 4,000 4,000
11 HAAHIXIE S 2,000 2,000
cus 2 2HAlH|
2,000 x100Z 103 2,000
14 JIEI2 43 2,000 0 2,000
olAF Mg s A=Y
100,000 *2ZH *102] 2,000
SAIA 40,300 21,300 19,000
BRI Z 40,300 21,300 19,000
201 Lyt 11,040 11,040 0
01 AR 3,640 3,640 0
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SN EAEBY
M3 olopma
ol AZ A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CHBZ 24T MR
2803 4S5 +500% 560
oIglE & 250,000 *4CH 1,000
cRIREA 2H ANRES
20,0003 205 *42] 1,600
oRdZR= 60,0003 #4 & +23] 480
2 5234l 7,400 7,400 0
odg & HA EHl +=d
3,000,000 3,000
oA HHl FRX2=+
550,000 *42]+2CH 4,400
307 elztol & 25,260 10,260 15,000
0192 & 3=H| 25,260 10,260 15,000
oEdZ JIE ARS
4,000 x5 *105+62 1,200
odg QUF 5,0002x3&*105+6 900
oA EEHS HAI
1,0002+680& * 122 8,160
oNp4s] dEHAE A= XE 2SS
10,0002 %1,500& 15,000
405 AHaHE = 4,000 4,000
01 ML ESFSHI 4,000 4,000
o=clXza HIIXSI]
4,000,000 *1CH 4,000
aFgac 1,561,971 1,244,256 317,715
= 14,799
Il 665,214
= 111,491
Ea 770,467
g2 1,535,561 1,202,530 333,031
= 2,124
Il 665,214
s 105,656
s 762,567
LSS A 163,740 163,740
201 =3 10,460 10,460
01 At22t2lH] 10,460 10,460
cHYES HAHE M
70 *28,0000H 1,960
olLEE 2= & 223X HMH
1,000,000 *43] 4,000
cHLES MRES
20,0003 x255*42 2,000
CHYES MMAES
250,000& x2E+22] 1,000
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SN EATBY
HEH: AP
oo g (St &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
SHZEE I8 o=
60, 00021 %2 25| 240
SOISEE AlRiZZ 3]
9,000& x2H»70 1,260
202 44| 4,000 4,000
01 2L Y| 4,000 4,000
oHYES HF =&
20,000& x»2H x100 4,000
307 21Z2t0| ™ 149,280 149,280
01 2 & 3|=2H| 149,280 149,280
oRxE HYUEE A4S 46,030
-SY¥Hd=sZ 11,0002 *4,000™ 44,000
B 2t 5,800& *350H 2,030
SX e EESES 95,250
—65M1 OlAar CHAFE X Ol 2H&E =H|
105,000& *420H 44,100
—QUAE L JLE BHAIGH 2*E
21,000 x75H 23| 3,150
22 fEES 4E
12,0002/ *4,000¥ 48,000
olYESE AZ2E
200,000& x105#43| 8,000
=Jt GIZESAIS 287,004 323,102 36,098
J| 143,502
= 143,502
307 S1Zto| & 287,004 323,102 A36,098
J| 143,502
= 143,502
01 92 & 3|=2H| 287,004 323,102 A\36,098
o(Helol HEEs 838 & 2=
9,345,600 %253 233,640
J| 116,820
= 116,820
o(Hel0] s2& E&Hl & &S
7,805,600& *53] 39,028
J| 19,514
= 19,514
o13Ml HElol S& 83H| & 2«2
01,2002 *53] 4,506
J| 2,253
= 2,253
oNE =2 HEHl € A=
520,800& *53] 2,604
J| 1,302
= 1,302
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SN EATBY
A 2yl
&l gy (CH9: &S1)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
oBEZIE FAD|ZE M2 ALY
230,500 %43| 922
J| 461
= 461
oHPV 1At EE=2gA= A ESHl & A4E
20,2403 %x253| 506
J| 253
= 253
oHPY 0I8EA EFH| & <=
231,920 %253 5,798
J| 2,899
= 2,89
201 HRESAI (LRI E) 381,154 375,840 5,314
J| 190,577
& 4,940
= 185,637
307 S1Z2H0| & 381,154 375,840 5,314
J| 190,577
& 4,940
= 185,637
01 9 & 3|=2H| 381,154 375,840 5,314
ocHEY S& F&H L «4E
13,601,680 253 340,042
J| 170,021
o= 2,753
= 167,268
oHEY HEFT 88H & &4+3
1,210,560& *253] 30,264
J| 15,132
& 560
= 14,572
O &E|IZEA NAE R UE
37,2803 *253| 932
J| 466
& 140
= 326
oNESEZEELE NAEZ 42
396,640 %253 9,916
J| 4,958
& 1,487
= 3,471
FUAHS HAZA EES 15,000 0 15,000
c 4,500
= 10,500
307 2I1Z2H0| & 15,000 0 15,000
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SN EAT MY
M g2
el ZZgael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 4,500
s 10,500
0192 & 3=l 15,000 0 15,000
SHOUHE (AR UTE o
3,750,000 43 15,000
= 4,500
Ea 10,500
FOHS IERAI HLES 3,906 0 3,906
== 1,172
o 2,734
307 212+01& 3,906 0 3,906
< 1,172
= 2,734
0192 & 3=l 3,906 0 3,906
oHOUNS S HYRE 4B
976,500 43 3,906
= 1,172
Ea 2,734
TZLHY WAl HEES At 583,448 164,888 418,560
Il 201,724
= 87,518
[Ea 204,206
307 el2to| & 583,448 164,888 418,560
Jl 291,724
< 87,518
= 204,206
019z & 3=l 583,448 164,888 418,560
oD2LHY HIYTE Hola HEAY
19,61024+6,277H 123,092
) 61,546
< 18,464
s 43,082
oIZLHY HLES 4=
73,340%4+6,277H 460,356
) 230,178
= 69,054
= 161,124
S 2AC AL 18,240 74,122 A\B5,882
201 eer23| 11,320 16,290 N\4,970
01 AtR2t2|HI 11,320 16,090 A4, TT0
ocUYHB Y2 ES U 2|2 K
5,0002+500H*25 5,000
SHIV, J0H 288 828 & cIEH M
5,000& *200)H*25 2,000
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SN EATBY
M g2
el ZZgael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 637
s 1,487
ZHASIIAL S 10,128 5,9% 4,172
Il 5,064
< 1,519
= 3,545
201 er23| 2,000 1,000 1,000
Il 1,000
== 300
o 700
01 At22t2lt] 2,000 1,000 1,000
oZHNY E2E S MH
5,000& *200)H*25 2,000
Il 1,000
== 300
[ 700
202 04l 2,000 1,200 800
Jl 1,000
s 300
e 700
01 =LHOLI 2,000 1,200 800
oRWBRINY E
20,0003 x1E*100&! 2,000
Jl 1,000
=S 300
[ 700
307 212+01& 6,128 3,75 2,372
Jl 3,064
=S 919
s 2,145
0122 € =4 6,128 3,75 2,372
SAZIINM(AZALE S) & 2&H|
12,800& * 102 6,128
7l 3,064
= 919
o 2,145
ZEBA JIEEEA A 927 2,057 AT1,130
2l 464
= 139
o 324
308 AtAIEHMSOIE 927 0 927
Il 464
= 139
[Ea 324
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SN EATBY
M g2
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